CLASS : XIIth
DATE :

DPP

DAILY PRACTICE PROBLEMS

SOLUTIONS

Topic :-MATRICES

1 (c)

It is given that
a b1 11 _[1 1jfa b
& dlo 1]=lo ll¢ @

a a+b]_Ja+c b+d
:[c c+d]_[ c d ]

>a+c=aa+b=b+dc+d=d

=>c=0anda=d

2 (a)

3 (a)

SUBJECT : MATHS
DPP NO. :9

Let A be a skew-symmetric matrix of odd order (2 n + 1) say. Since 4 is skew-symmetric

~AT=—A

=>[AT| = | — 4]

=[4"] = (—1)*™*14]

=>[4T| = —|4]

=|A| = — |A|=2]|A| =0=|A| =0
4 (a)

1/2 +f3/2

—101

372 1/2“%/2 —1/2] [10

T _
As, PP —[_1/2 \/§/2
=>PPT=TorP"=P7' ()
As, Q=PAPT

= PTQ?0%5p = PT[PAPT)(PAP)™)...2005 times]P

(PTP)A(PTP)A(PTP)...(PTP)A(PT P)

2005 times
=IA2005 — AZOOS

e[ e 1 )

A3 = [é ﬂ[é ﬂ = [(1) ? ...and so on
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1 2005
2005 _
A —[0 1]

= pTQ2005p — [% 20015]

5 ()

Given,2X +3Y =0 )]
and X +2Y =1 (i)

where 0=[8 8]and I = [(1) (1)
On solving Egs. (i) and (ii), we get
X=-3I= [ 53_ 30

6 (d)

Subtracting the addition of first two equations from third equation, we get
0 = —5 which is an absurd result.

7 (d)

. X —
Given A = [3 7]

=[5 ~5|=7x+s

7
Al= [
7x+6L—3

7 1
Butgiven A~ =|3% 17
34 17
77
7x+6 34
= 7x+6=34=>7x=28=x=4
8 (d)
(a) Itis clear that 4 is not a zero matrix.
100 —-10 0
b) (—1)I=-1 010 0—-10
() 001 0 0-1
ie, (-Di+A
— 0 0 —1
©lai=0|5" o|-0| 2y o 1| %
=0-0—-1(-1D=1
Since,|A| # 0 so A™! exists.
0 0-170 0 -1
(d) A2=|0—-1 0| 0—-10
-1 0 0/[-1 0 O
100
:>A2: 010:}142:]
001
10 (a)
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1 2 1 1 0 0
Since, A=|3 0 2 |and B=|2 1 0
4 5 1 3
1 2 —-1111 0 O
AB=13 0 2 {2 1 O
4 5 010 1 3
1+4+0 0+4+2—1 0+0-3
=|34+04+0 0+4+0+2 0+0+6
4+4+104+0 0+5+0 0+0+0
5 1 -3
=13 2 6
14 5 0
11 (c)
We have,

[F) GO =[G If @0]!
SF@GOW ' =6(—y)F(—x)
12 (a)
i [1—212_1—2]
1+1005 1]7 1115 1

Also, Al=xA+yl

11[1‘2] [ 5+ [oy

—2
> x+y= E 2x = ECE
—1 2
1171
13 (d)
Now, (AB)" = BTAT
14 (c)
On comparing corresponding elements, we get
x+y+z=9
x+y=5
and y+z=7
On solving these, we getx =2,y=3,z=4
= (xy,2) =(2,3,4)

> x=

15 (0
ab b? ab b?
Ad=|_ 2 —ab[—a2 —ab

_ [ = a*p*-a*p? ab® — ab®
—a’bh+a®h —a’b?+ a’b?

> A’=0
=~ A is nilpotent matrix of order 2.
16 (d)

Since A,B and C are non-singular matrices, then
(aB~10) ' =cY(ap )"
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=c (B a)=c1BA™
17 (a)
Given matrix is invertible
A—1 4
-3 01
-1 1 2
>A0-1)+1(—-6+1)+4(-3—-0)+0
> —A—-5—-12+0
=A% —17
18 (d)
From Egs. (ii) and (iii), we get
3y? 3z
3y 32
b*  c?
2 2

3
= ‘§==Xz

c b
On putting this value in Eq. (i), we get
2x* 2y°
2 2y

= *0

=>x=tka,y=*+kb,z=1+kc,VKER
19  (b)

1 logya
We have, A = [loga b 1

~ |Al=1—logzblogya =1—-1=0

20 (a)
|A|=4—6=—2
adj ()= 257

114 -2
Y R
at=—3[55]
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ANSWER-KEY
Q. 1 2 3 4 5 6 7 8 9 10
A. C A A A C D D D B A
Q 11 12 13 14 15 16 17 18 19 20
A C A D C C D A D B A

PRERNA EDUCATION https://prernaeducation.co.in 011-41659551 | 9312712114



